Ch 4 Review

Name: @

Period:

Are the triangles congruent? If so, state why (SSS, SAS, ASA, AAS, HL).
If there is not enough information, write N.E.I (not enough information).
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10. Given AABC = ARST ,m/A = 2x +5,m4AS =x—15,and mZAR =55

a) Draw and label a flgure to show the congruent triangles

A f?,y_r Ix+ 5 =55
2x = 5

b) Find the value of x A= 26

5

¢) Find the measure of each of the angles in the triangles.

T

BY
a 2
A y L L & f 3 T

Draw AMNO and ARST . Label the corresponding parts if AMNO = ARST

M. /T = /.0 14. Moo= RT
12. SR= [Im 15, /TSR=/Opspar
13. TR= Mo 16. /NMO = LIRT

Find the value of x for each:
X =x-a=%s

17. x= 3 ¥ i {3 18 X= Zé 19. x= [E
(X "3)()6"—,') g

Yt 72 =117
“Sx = 45

8x+32 X =1y

11x-13




3

Label the drawings with the appropriate information and state why the triangles are congruent

/BCA= /EDF, #EBC = /AFD, BC =DF,

22.
ABCE = AM by _ AJA

23. EII@,D isamidpointofﬁﬁ,zgzﬁﬁ, A
ADBA=A_EDE by FAS
B\ i E

Cc

24. AE LDC, /A= /E, AABD = A W s B

B
25. AB=AD, BC=DC, ACAB=A (AD by \$5)

D

c

26. ACDE , is isosceles with base CD. Draw ACDE and mark the congruent sides. if CE =8x+2
ED=2x+5,and CD =5x+8, find the lengths of each side of the triangle.

- I X+ = 2X48
AN 2xas O
ol & 6x =73 ;! ED= é
< SFE b X= 1 D= /o,
=3x-7, findx.

Given AABC = ADEF, AB = 15 BC =20, AC =25 and F

27. B’
r/—\ i\ JX~-7 = e
Ix= 27
& D Y=
@4)«5—& find x .

leen AABC ADEF, DE =10,EF =13, DFF =1

28.
I .
p re/\ 13 I-F = /26
Y= 2y
c o,
.7)5;_ _ D 7 e @
29. ACAT is a Right Triangle with legs CA4 and CT'. f m~2C = 6x +18, find the value of ‘x.

A
6’x‘+i‘2:’:

G
, Ex = 51 .
T [*=i27) o o




30.

Which wriangle is congmen o A4BC?
A

ﬁm\ i8) %&
€1 7 D} ‘

31.
ABCD is an jsosceles triangle with base BC. apd ABCD = AJKZ. Fiod ma(

Sx+3= Jx- €

[A] 28 [B] % (§)EE Dy 32

32.
Dretermine which triangles are congruent by A AS using the mformation s the dizgram below:

A fve » A £24

[A] A4BE = ACBE @ MBE=AEDS  [(] MDC=AERC (D] MBF=EDF



